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oobooOOoooooofbonoooonog Lo

ex=i|e+e|e>e|if etheneelsee
t ::=Dbool | int

OO0 e:t: U0 ed 0O tO0OO0ODOO
(445)+6>3 : bool

if (5+6 >3) then (1+2) else (3+4) : int
if (5+6>3)thenlelse (3>4) 0OOO
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goadd

goad

000 (type checking) OO

» OJ0:0eOd Ot

» O00: Yes O No

» O0:e:t000 YesOe:tOOOOO No

ogoooo:
(445)+6>3 : bool — Yes
(445)+6>3: int — No
if (546 >3) then 1 else (3 >4) : int — No
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00000000 let0DO0DODODOO Ly:

enx=---|x|letx:t=eine
tx=(0000)

goodd:

let x:int=14+2inx >3 : int
let x:int =1 > 2 in ifx34 : int
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e:tJ0000000DOODOO

e = x4+ 10 : int
e = if x then 10 else 20 : int

ee+e 0000

el 000000000 O000O0DO1I00O0O0OODODODOODOO
oboobooboo

» x:int F e : int
» X :booltF e :int
» x:hte:OOOO t, 0000
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000 (Typing Judgement) M'-e:t

> rle:tla X27t2>"'7Xn:tn(n20)
» (000000 D0)00000e00O0OOOOOODOOOODO

0
x :bool,y :int - x : bool
X :int,y :int F if x > 3 then 1 else x+y : int
x:intkFif x >3 thenlelsex+y OO0
x:int,y :boolF if x >3 then lelsex+y OO0

0000 (OO0 o0oDbOoO0O0) oooooooo No.7: 0ODDODOOO 2

LOODOOOOO

F3:int F5:int F5:int F 8:int
3> 5:bool F7:int F5+8:int
Fif 3>5then7 else 5+ 8:int

9/

ooobooooonol

LODODODOOOOD:

miDDDDDDDD

e :int [T F e :int
e +e:int

e :int TF e :int
e > e :bool

e :bool ThHe:t hey:t
Fif e; then ey else e3: t
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lFe:ts Tx:hFe: b
[Flet x:t1 =€ ine : b
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000 (type checking) OO
» J0:000T0d0eO Ot
» O0O: Yes O No

» O0: TrFe:;t 0000000000000 YesUOOOOOOO
No

x:int F x:int (80)
x:intkF x+1:int x:int,y:inthk y > 10: bool
x:intFlet y:int =x+11in y > 10: bool

gogooggoog

;0000 0000000000000 0O (Dooooooooooo)
oooooo
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LOOODOOletDODOOOOO0OOO0ODOOD Ls:

LOOODODOOOOO:

ex=---|letx=eine re - - ,
e 0 , X1 [So N )
tx=(0000) lFletx=e ine : b
ooooag: 0000 xO00O0O0O0 n0O00000

Flet x=1+4+2inlet y =x>5 in if y then x else x+1 : int
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x:int - x:int 0o
x:intkF x+1:int x:int,y:inthk y > 10: bool
x:intFlet y =x+1iny > 10: bool

0000 (OO0 o0oDbOoO0O0) oooooooo No.7: 0ODDODOOO 2

goddd: oo uouooo

> let x =3 <5 in if x then y else z
» let x =3 <5 in if x then x else x

» let x=3<5inlet y =345 1in if x then y else y +5

OO0 (0Oo0):
» y:int,z:int F let x =3 <5 in if x then y else z: int (0 O
0300 int0bool0OOOOOOOOOONO)

» let x=3<5inif xthenxelsex 000000000 (xO
boolOOOUD int0000O0OODOONO)

> y:inth let x =
3<binlet y =345 in if x then y else y +5: int
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000 (type inference) O O
» OO0 000rof e
» O00: (Yes, t) OO O (No, -)

» O00: YesOOOOOTFe:t 0DOODOOODOODOONoOOO
gobotgboooooboogn

oobooboboobooon
» O0: 0edd
» O00: (Yes, t, ) 0O O (No, -)

» O00: YesOOOOOTFe:t 00DO0ODOOODOODOONoDOOO
uobootgboooooboogn

goooooood
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OO0 L,DOOo0:

e:=..|Xxel|ee

ti=...|t—>t
L, OOO0O0OooogDo:

MNMx:tikFe : b

N-)Xxe : t1 — b
e : 1>t NFe ' iy
lere b
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_ — . . — rFf i a—=a TEx : o
f:THf :int—int f:TF3 : int TEf - a—a TEfx - a

f: TEHf3 : int f: TES5 . int : -
f.TF(f3)+5 : int rrf{fx) : o
FAf.(f3)4+5 : (int — int) — int

fra—sabXx. f(fx) : a—«
FAMMM f(Fx) @ (a—a)—= (a— )

00000 TODOint—int000O00OO

oodoOr=f:a—a, x:«
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MLO O OOOO (polymorphic type) MLO O OOOO (polymorphic type)

map O 0O :

(@ = ) — (a list — f list) 000000000000 DD;let000D0OOO0O

let inc x = x + 1;; let £ (x,¥) = (y,X);;

map inc [1; 2; 31;; =>f : ax f = B xa

=> [2; 3; 4] let g x = x in ((g 10), (g "abc"))

=> g : a — «

(map 0000 (int -> int) -> (int list -> int list))
oo0o0bOO0obOobOOooO MLODODODODODODOO

(fun h —+ ((h 10), (h "abc"))) (fun x — x)
==> type error

let addl x = x ~ "1";;
map addl ["kameyama"; "yukiyoshi"];;
=> ["kameyamal"; "yukiyoshil"]

(map00OOO
(string -> string) -> (string list -> string list))
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MLO O OOOO (polymorphic type)

O0000000000000;let000o0onoo
let g £ = £ £;;

==> type error

let £ x = x in
(f £) 10 ;5
==> OK

£00
» let 00000 £ ...
» 1000 f ... (int -> int) -> (int -> int)
» 2000 f ...

)a -> 7a

int -> int
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0000000 (Parametric polymorphism): ML O O 0O 0O O O Haskell O
000Do00Dooo0ooooo

cf. 000000000 000000 subtyping polymorphism Haskell O
00000000 ad hoc polymorphism OO0 OO

gooooooog

MLOO (DOOCOOO)0DOOO0O OODOoOOOODOO0OCOOOO (BOo
O000o00oo0o0)oooooo

0000 (DO0OO0 o0Oo00) OopDoooooo No.7: 0O0DDODODOO 2
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OO0OmepU 00O COODOOOOOOOOO

» 00 1. int00000 map,string0 0000 mapO OO0 OQOQO0O
ooo

» 002 OvodJO0OOO mapU OO0 D0D0O0OO0OODOOOODO cast
ugod

» 00 3. C++ 0 template DO DO M TOOOODO map O OODDOO
oboboooooooThOOooOoooo

ool00oo0oooboooobooboboobobooboooboooooooon
obobooboboboban
ob2000000000000D00O00O00OLOObOObLOoDbDDOn
obobobobobobobonbog
0030000000000000000O0DOO0O0OOC/C++0000
boboboboboboobooooooobooboboboboonoo
gboboboboboooooooooboo

0ooooooon
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gag
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uboboboobobobobobobobooobooboooooooooon
00o0o00o0o00oOo00ooOo0oooOo0oooooo(Doooo

00)00000000000000O000O00O0O[CooOoOO]
» JOQoono

» JO0O000 vsOOOOO

» OO0

O000: 0000000000 (00 Java)JOOOOO (Generics,
subtyping polymorphism, ...)
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HEN

bobobooboobooooooobobobobooboooboooooo
bobobobobooboobooboboooooooooooooobooon

oobooobooobooobbooobboobboobobooo
ugn
» D000 OOooboboobboooo
» JO0bOoboboooooooboobobooboaon
» 0000000000 (D0D0D0O0O0OO0)0D0D0oOUOOOUOLOOO
» DO0O0Q0oDbOoOn
» 00000000000 000O000)000D0O0O00DOOoOO0
» JOO0D0O0bO0o0O0O00ooooboobobooboon
» 0000000000 (DUOOODUOoOUOUoOOoOoooon)

bobobobobooooooob: obobobomobooobooobog
OO0 (RubyDODOO)ODDOO BPO, 200900

0000 (OO0 oDboOoO0) oooooooo No.7: 0ODDODOOO 2 29 / 39

MLOOOOOO (OO)

mapO 0 00:

map : (o - fB) — (a list — [ list)

map (fun x — x + 1) [1; 2; 31;;

=> [2; 3; 4]

map (fun X % X A " 'pdf") ["a"; "b"; "c"] ;;
:> ["a‘pdf"; "b.pdf"; "c.pdf"]

No.7: 0O0DDDODO 2
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MLOOODOOO

000 (polymorphic type): Va. t
map : Va.VB.((a = B) — (a list — 3 list))

al p0000;000000D00DODOO
» a=f=1int 0000 Omap: (int — int) — (int list — int list)
» a=F=string 00000
map : (string — string) — (string list — string list)
» o=int 000 f=string 00000
map : (int — string) — (int list — string list)

string_of_int 256 ;;

==> "256"
map string_of_int [10; 20; 30] ;;
::> ["10"; "20"; "30"]
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MLOODOOODO et 0O OOQOOO

0000000 («t0OO0OO0OOOOO0):

t:=Dbool|int |t >t |«

MLOOOOOOOOO lee0D0(0DO0)0DD0OODO D0000O0 (letD0O00O0O0O):

let foo x = x ;;

——> foo : a — a NlFe:ts T, x:(Vag.---Va, t1)Fe:t

let goo x = [x; xX; X] ;; lFletx=e¢e ine: b

==> goo : a — « list

let hoo f x = £ (f (f x)) ;; 0000w, ,0, 00 000000000000T0(0O00OO)O
==> hoo : (¢ = a) — (a — «) goodoooooooooa

000000 (Dooooooo):

ﬁ(X:Val.---Van. tyel OOO
X

000 +¢Y0t000 ;000 (00000)0 0000000000

0000 (OO0 o0oDbOoO0O0) oooooooo No.7: 0ODDODOOO 2 33 /39 0000 (oooOoO ooooo) 0ooooooon No.7: 0ODODODOO 2 34 /39

etO0O0O0O0OO0O let0 000000

xX:ab x:«
FAX. x:a—«a 000000 (0000D00ooooo)oooooo

> let foo x y = x
> let goo f x = £ x
x aFx-a fiVa(o—a)Ffiint —int ---F5:int > let hoo £ g x = g (£ %)
FAx. x:a—« f:Va(a— a)Ff5:int
Flet f = Ax. xin f 5: int 000000000000 0020000000000000 OCamlO
oobooobooobuooboboooo
> let £ = fun x -> x in (f £f) 10
- aFx-a f:Voa(o— a)Ff:ibool —bool ---F5>3:bool » (fun £ -> (£ £) 10) (fun x —> x)
FAx. x:a—a f:Vo.(oo— a)Ff (5>3):bool

Flet f =Ax. xin f (5 > 3) : bool
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MLOODOOOODODOOO

MLOOOOOOOO (Hindley-Milner Type System):
» let00: let000D000ODO0OOODOOOODODOO
»VOOOOOO0000((Veea)— int00000000)
» JO0O0O0oooooooon

MLOOOOOOOOOODO

Oel0O0O0TNgooooooOrkFe:tdooooooooobooOOg
Principal Type (00, 00000 ¢t000000OO0OO0O)0O000COO

MLOOOOOOOOOOOO [Hindley-Milner]

DelUOD0OOTrobDooobDOoOOrlNkFe:t0dob t0onbooonDO
ubobobooboobooooooobobobobooboooooo

oooooooo No.7: 0ODDODOOO 2
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goodaao

Sestoft 0O 7000000000O00Ochap7.ml D00 coinsOO0O0OO
ugogd

Sestoft 0 O 0 (6.4.3):

MLOOOOOOOO

O0OMLOOOOODOOO (00000)00000000000000
00 (EXPTIME)D OO D

let id x = x

let pair x y p = p x VY
let pl p = pair id id p
let p2 p = pair pl pl p
let p3 p = pair p2 p2 p
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